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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2016 

 

Subject Name:   Microprocessor and Assembly Language Programming  

Subject Code:  2TE04MPL1    Branch: Diploma(CE)  

Semester:  4       Date:  16/05/2016   Time: 02:30 To 05:30   Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  Which register keeps track of program during execution? 

a) Data register b) Program counter c) Instruction reg. d) None of these 

 

 b)  Which type of addressing mode is used in CMP instruction? 

a) Direct            b) Implied                c) Register            d) Indirect 

 

 c)  In 8086 the flag which enables or disable external interrupts is  

a)IF                      b)DF                           c)TF                        d)CF 

 

 d)  The general purpose register code for accumulator is  

a)111                   b) 000                          c) 010                     d) 001 

 

 e)  A nibble is equal to  

a) ½ byte             b) 4 Bit                        c) A And B Both    d) none of above 

 

 f)  In 8085 the term ‘absolute addressing’ means  

a)Immediate addressing b)register addressing c)direct addressing d)none of above 

 

 g)  To multiply a number by 8 in 8085 we have to use RAL instruction  

a)once                  b)thrice                       c) twice                   d) four times 

 

 h)  The number of  flags and registers in 8086 are respectively  

a)9 and 13           b) 13 and 9                  c) 9 and 5                 d) 5 and 9 

 

 i)  If the contents of F is 31H then  

a)P=1                  b)AC=1                       c) CY=0                   d) Z=0 

 

 j)  If the frequency of clock is 3 MHz, the time duration of one T State equals to  

a)0.33 μs             b) 333 ns                    c) 0.33                       d) 0.33ms 

 

 k)  The highest priority interrupt is  

a) INTR              b) TRAP                     c) RST 7.5                d) RST 6.5 

 

 l)  In 8085  BCD stands for  

a)bit coded  device  b)binary coded display c) binary code division d) binary coded 

decimal 

 

 m)  The 8085 can address up to 

a) 64MB         b) 64 KB                        c) 128KB                      d) 16 KB 

 

 n)   The compliment can be performed by  

a)X-oring with FFH b) Subtracting from FFH c) CMA instruction d)all of above 
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Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 A. Describe Demultiplexed address data bus and control signals with necessary figure. 07 

 B. Enlist the name of addressing mode of following instructions. 

(i) STC (ii) LDA 1050H (iii) DAA (iv) LHLD 3050H (v) MOV C, D (vi) DAD D 
03 

 C. Write an assembly language program to perform ex-oring between data of memory 

location 2050h and 3050h without using XRA/ANA instructions. Store result in 2055h 

memory location. 

04 

 

Q-3  Attempt all questions (14) 

 A. Explain LHLD instruction Write an 8085 assembly language program to add two 16 

bit data from memory location 2001H,2002H and 2003H,2004H and store result back 

in memory locations 2005H,2006H,2007H.  
 

07 

 B. Define following terms. 

1. Opecode 2.Fetching 3.Segmentation 4.Machine cycle 5.Operand 6.Instruction 7.Bus 
07 

Q-4  Attempt all questions (14) 

 A. Explain looping, counting & indexing with an example. 07 

 B. 1. Write full form of MBR, MAR, ALE & ALU. How many address lines does 32 

Kbytes memory chip need? 
04 

 C. Starting address of 8KB memory is 2000h, What will be the ending address? 03 

Q-5  Attempt all questions (14) 

 A. Explain Stack operation and instruction with necessary diagram. 07 

 B. Explain BIU & EU in 8086 Microprocessor with diagram. 07 

Q-6  Attempt all questions (14) 

 A. Explain CMP instruction and write a program to find smaller of three byte from memory 

locations memory location 2000H, 2001H and 2003 store result back in memory 

location 2004H. 

07 

 B. Draw & explain architecture of 8085  07 

Q-7  Attempt all questions (14) 

 A. Explain following instructions. 

(1) LDA 2052H (2) LXI H, 6000H (4) CMC (5) IN 26H (6) MVI C, 64H (7) PUSH 
07 

 B. Define interrupt. Explain  07 

Q-8  Attempt all questions (14) 

 A. What is ISR? WAP to Transfer block of 10 data from location 5050H to 6050H 

onwards. 
07 

 B. What is addressing mode? Write its types. 03 

 C. Explain Flag register of 8086  04 
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પ્ર:૧  નીચેના પ્રશ્નોના જલાફ આ઩ો  (14)  

 a)  કમો યેઝીસ્ટોય કામય઩ારન ચાલ ુહોમ ત્માયે પ્રોગ્રાભ નો ઩થ યાખે છે?  

a) ડેટા યઝીસ્તય  b) પ્રોગ્રાભ કાઉન્ટય c) ઇન્રુકં્સન યેઝીસ્ટોય d) કોઈ ઩ણ નહહ. 

 

 b)  CMP ઇન્રુકં્સન ક્યા પ્રકાય નો અડે્રસસંગ ભોડ લ઩યામ છે? 
a) ડામયેક્ટ           b) ઈમ્પ્રેમાદ                c) યઝીસ્તય          d) ઇન ડામયેક્ટ 

 

 c)  ૮૦૮૬ ભા કમો ફ્રેગફાહ્ય ઇન્ર્ત ને અનેફર અથલા હડસેફર કયે છે?  

a)IF                      b)DF                           c)TF                        d)CF 

 

 d)  અક્યુમંરુેતય ભાટે જનયર ઩ય઩જ યેઝીસ્ટોય કોડ   

a)111                   b) 000                          c) 010                     d) 001 

 

 e)  નીફર ફયાફય 

a) ½ ફIઈટ             b) 4 ફીટ                       c) એ અને ફ ફનેં B   d) કોઈ ઩ણ નહહ 

 

 f)  ૮૦૮૫ ભા ળબ્દ “અફસોલ્યતુ અડે્રસસંગ” ભતરફ  

a) ઇભીડીમાત અડે્રસસંગ b) યેઝીસ્ટોય અડે્રસસંગ c) ડામયેક્ટ અડે્રસસંગ d) કોઈ ઩ણ નહહ 

 

 g)  ૮૦૮૫ ભા કોઈ નમ્પફય ને ૮ લડે ગણુલા ભાટે RAL ઇન્રુકં્સન નો ઉ઩મોગ કયલો ઩ડે  

a)એક લાય                  b) ત્રણ લાય                      c) ફે લાય                 d) ચાય લખત 

 

 h)  ૮૦૮૬ ભા ફ્રેગ અને યેઝીસ્ટોય ની સખં્માઅનકુ્રભે  

a)9 અને 13           b) 13 અને 9                  c) 9 અને 5                 d) 5 અને 9 

 

 i)  જો F ભા ૩૧H  હોમ તો  
a)P=1                  b)AC=1                       c) CY=0                   d) Z=0 

 

 j)  જો ક્રોક ની આવસૃિ ૩MHz હોમ તો એક T સ્ટેટ નો સભમગા઱ો ફયાફય  

a)0.33 μs             b) 333 ns                    c) 0.33                       d) 0.33ms 

 

 k)  સૌથી લધ ુઅગ્રીભતા ધયાલતો  ઇન્ર્ત  

a) INTR              b) TRAP                     c) RST 7.5                d) RST 6.5 

 

 l)  ૮૦૮૫ ભા BCD ફયાફય 

a)ફીટ કોડેડ હડલાઈસ b) ફામનયી કોડેડ ડીસ્્રે c) ફામનયી કોડ હડલીઝન  

d) ફામનયી કોડેડ ડેસીભર 

 

 m)  ૮૦૮૫ આટરા સધુી અડે્રસ કયી સકે 

a) 64MB         b) 64 KB                        c) 128KB                      d) 16 KB 

 

 n)   કોમ્પ્રીભેન્ટ ઩યપોભય કયી ળકામ  

a) FFH ની સાથે એક્ષ ઓહયંગ થી  b) FFH ભાથંી ફાદફાકી કયલાથી c) CMA ઇન્રુકં્સન  d) આ઩ેર ફધા  

 

 

 

પ્રશ્ન ૨ થી પ્રશ્ન ૮ ભાથંી કોઈ ઩ણ ચાય રખો  

પ્ર-૨  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A. જરૂયી આકૃસત લડે ડીભરટી઩રેકસડ એડે્રસ ડેટા ફસ અને કંરોર સસગ્નર લણયલો.  07 

 B. નીચેની ઇન્રુકં્સનો ભાટે અડે્રસસંગ ભોડ ના નાભ આ઩ો.  

(i) STC (ii) LDA 1050H (iii) DAA (iv) LHLD 3050H (v) MOV C, D (vi) DAD D 

03 
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 C. XRA અને ANA  ઇન્રુકં્સન નો ઉ઩મોગ કમાં સલના ભેભયી રોકેસન 2050H અને 3050H ના ડેટા લચ્ચે એક્ળ-ઓયંગ 
નો અસેમ્પબ્રી રેન્ગલેજ  પ્રોગ્રાભ રાખો ઩હયણાભ ભેભયી રોકેસન  2055H ભા યક્ષક્ષત કયો. 

04 

 

પ્ર-૩  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A. LHLD ઇન્રુકં્સન સભજાલો. ભેભયી રોકેસન 200૧H, 200૨H અને 2003, 2004H ભા યહરેા ૧૬ ફીટ ડેટા ના 
સયલા઱ા ભાટેનો અસેમ્પબ્રી રેન્ગલેજ  પ્રોગ્રાભ રાખો.અને ઩હયણાભ ભેભયી રોકેસન  2005H,2006H અને 
2007H ભા યક્ષક્ષત કયો.  

 

07 

 B. નીચેના ઩દો ની વ્માખ્મા આ઩ો . 
1. ઓ્કોડ2.પેક્ષચંગ3. સેગભેન્ટએસન 4. ભળીન સામકર 5. ઓ઩યંદ 6. ઇન્રુકં્સન  7. ફસ 

07 

પ્ર-૪  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A. લ઩ુંગ,કાઉન્ટીન્ગ, અને ઈન્ડેક્સંગ ઉદાહયણ થી સભજાલો.  07 

 B. MBR, MAR,ALE અને ALU ના ઩ણૂય નાભ રાખો.૩૨kb ની ચી઩ ભેભયી ભાટે કેટરી એડે્રસ રાઈન જોઈએ?  04 

 C. ૮ KB ભેભોયી નુ ંપ્રાયંક્ષબક એડે્રસ 2000H છે,તો અંસતભ એડે્રસ શુ ંથળે?  03 

પ્ર-૫  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A. સ્ટેક ઓ઩યેળન અને ઇન્રુકં્સન જરૂયી આકૃસતસહ સભજાલો.  07 

 B. ૮૦૮૬ ભાટે BIU અને EU આકૃસત સાથે સભજાલો. 07 

પ્ર-૬  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A. CMP ઇન્રુકં્સન સભજાલો.અને ભેભયી રોકેસન 2000H, 2001H અને 2003 ભા યહરેા ડેટા ભાથંી ન્યનુતભ ડેટા 
ળોધલાનો અસેમ્પબ્રી રેન્ગલેજ  પ્રોગ્રાભ  રાખો. અને જલાફ ભેભયી રોકેસન 2004H યક્ષક્ષત કયો.  

07 

 B. ૮૦૮૫ ના આહકિટેક્ચય ની આકૃસત દોયો અને સભજાલો.  07 

પ્ર-૭  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A. નીચેની ઇન્રુકં્સનો સભજાલો. 
(1) LDA 2052H (2) LXI H, 6000H (4) CMC (5) IN 26H (6) MVI C, 64H (7) PUSH 

07 

 B. ઇન્ર્ત ની વ્માખ્મા આ઩ો. તેને સસલસ્તાય સભજાલો.  07 

પ્ર-૮  નીચેના પ્રશ્નોના જલાફ આ઩ો. (14) 

 A. ISR શુ ંછે? રોકેસન 5050H થી 6050H થી ઉ઩ય ૧૦ ડેટા રાન્સપય કયલા નો પ્રોગ્રાભ અસેમ્પબ્રી રેન્ગલેજ ભા 
રખો. 

07 

 B. અડે્રસસંગ ભોડ શુ ંછે? અને તેના પ્રકાય રખો.  03 

 C. ૮૦૮૬ ના ફ્રેગ સસલસ્તાય સભજાલો.  04 

 


